@ YAMAHA
U-BRACKET

UuB-DZR15H UB-DZR12H UB-DZR10H

Owner’s Manual
Bedienungsanleitung
Mode d’emploi

Manual de instrucciones
Manual do Proprietario
Manuale di istruzioni

PykoBoAcTBO nonb3oBaTenA
{(ERHEAH

BB GHEAE SPEAKER BRACKET

L
(1]
O
c
©
S

LL
(7]

«©
=
O)
=)

et
e
O

o

b
=
X
(5]
(3]
>

o




Introduction

Thank you for purchasing the Yamaha UB-DZR15H, UB-DZR12H, UB-DZR10H, UB-DZR15V, UB-DZR12V, or UB-
DZR10V U-BRACKET. This product is a bracket designed for use in installation of the Yamaha CZR and DZR series
speakers. This manual explains how to attach the bracket to a speaker when installation personnel use this bracket
to install the speaker to a wall or ceiling. Please read this manual thoroughly before you begin using this product in
order to use it properly. After reading this manual, please keep it available for future reference.

e The example illustrations used in this manual are taken from the UB-DZR12H and UB-DZR12V, if not otherwise specified. Example illustra-

tions of the corresponding speaker are taken from the CZR12.

® The contents of this manual apply to the latest specifications as of the publishing date. To obtain the latest manual, access the Yamaha

website then download the manual file.

Contents
INTrOAUCTION oo 2 Horizontal Bracket (UB-DZR15H, UB-DZR12H,
PRECAUTIONS ... 2 and UB-DZR10H) Installation.............cco.iiinnniiieen 4
PACKAGE CONENES ... e v 3 Vertical Bracket (UB—DZR15\(, UB-DzZR12V,
) and UB-DZR10V) Installation ..........ccccccooevviiiiiiiiiiiiiceee, 5
Compatible Speaker Models ) )
, Installation Examples (English only) ........cccccooiiiiiiine. 38
Check Before Installation ............ccocvviiiiiiiiisic ) )
Optional Brackets (sold separately) (English only) ............. 39
Dimensions (ENglish oNly) ... 40
PRECAUTIONS
PLEASE READ CAREFULLY BEFORE PROCEEDING
Please keep this manual in a safe place for future reference.
/\ warNING NOTICE

Always follow the basic precautions listed below to avoid the
possibility of serious injury or even death from electrical
shock, short-circuiting, damages, fire or other hazards. These
precautions include, but are not limited to, the following:

Do not open

e This product contains no user-serviceable parts. Do not
attempt to disassemble the internal parts or modify them in
any way.

Setting

¢ Do not attach this product to any speaker not specified as
compatible. Doing so may result in damage or injury.

/\ cAUTION

Always follow the basic precautions listed below to avoid the

possibility of physical injury to you or others, or damage to the
product or other property. These precautions include, but are
not limited to, the following:

Setting

e Always consult qualified Yamaha service personnel if the prod-
uct installation requires construction work, and make sure to
observe the following precautions.

- Choose mounting hardware and an installation location that
can support the weight of the product.
- Avoid locations that are exposed to constant vibration.
- Use the required tools to install the product.
Inspect the product periodically.

PA_en_8

To avoid the possibility of malfunction/damage to the prod-
uct, or damage to other property, follow the notices below.

® Handling

¢ Do not use a vertical bracket if
installing a speaker horizon-
tally. Do not use a horizontal
bracket if installing a speaker
vertically. The speaker weight
may cause bracket deforma-
tion if the improper bracket is
used.

Information

H About this manual

¢ The illustrations as shown in this manual are for instructional
purposes only.

® The company names and product names in this manual are
the trademarks or registered trademarks of their respective
companies.

B About disposal

® This product contains recyclable components. When dispos-
ing of this product, please contact the appropriate local
authorities.



Package Contents

Accessories Qty. Comments

e For cabinet installation x4
¢ For separately sold brackets* x2

M8x30 hexagon bolts with flat washer and
spring washer

Knob screws with flat washer and spring @ ° Can be used in place of the angle-fixing bolts

washer during temporary installation.

M8 flat washers . 2 For separately sold brackets*

©

©)

M8 hexagon nuts For separately sold brackets*

N~

Owner’s Manual (this book) 1 —

* Used together with the optional brackets (sold separately; for more information, see page 39).

Compatible Speaker Models

Model Use Compatible speakers
UB-DZR15H CZR15, DZR15, DZR15-D
UB-DZR12H Horizontal installation CZR12, DZR12, DZR12-D
UB-DZR10H CZR10, DZR10, DZR10-D
UB-DZR15V CZR15, DZR15, DZR15-D
UB-DZR12V Vertical installation CZR12, DZR12, DZR12-D
UB-DZR10V CZR10, DZR10, DZR10-D

WARNING
A Do not attach this product to any speaker not specified as compatible. Doing so may result in damage or injury.

Check Before Installation

W Fittings, bolts, and other items for installing the bracket to a wall or ceiling are not included. If you are not sure what fittings to
use, consult a specialist.

W First attach this bracket to the speaker before installing it to a wall or ceiling. We recommend that you securely install the
bracket to a wall or ceiling using the proper fittings and bolts after attaching bracket to the speaker.

CAUTION
A * Make sure that the installation surface is strong enough to support the total weight of the speaker and the U-bracket. If you
are not sure about the installation surface, consult a specialist. Avoid attaching the U-bracket to drywall such as acoustic
tiles.

* Make sure that you do not pinch your fingers between the U-bracket and speaker.

* Make sure to take precautionary measures using wires to prevent the speaker from falling down in the event of an installa-
tion failure.

Yamaha cannot be held responsible for damage or injury caused by insufficient strength of the support structure or
improper installation.




Horizontal Bracket (UB-DZR15H, UB-DZR12H, and UB-DZR10H) Installa-
tion

1. Remove the M8 screws (four total) from both the top and bottom faces of the speaker.
Use a 5 mm hexagon wrench.

M8 screw
[ NOTE |
= = P Carefully store the screws removed from the speaker so
that they are not lost. Using the speaker with the screws
removed will negatively affect sound quality due to air
leakage because the screw holes penetrate the inside
. > of the speaker cabinet. Re-install the screws to the orig-

inal screw holes after removing the U-bracket.

2. Use the accessory M8x30 hexagon bolts (four total) to secure both sides of the U-bracket to the speaker.
Use a 13 mm wrench. The recommended torque is 6.2 Nm.

Angle-fixing bolt

M8x30

hexagon bolt
0<-- @ f WARNING

Never loosen the center screw. Doing so
may result in the speaker falling and
possible injury. If it becomes loose,
retighten it to a torque of 12.4 Nm or
more.

O
\ U-bracket

3. Use a wrench to temporarily tighten the angle-fixing bolts on both sides, and install to the wall or ceiling.

CAUTION
A Failure to temporarily tighten the bolts may result in the speaker or U-bracket rotating during installation and possible
injury.

4. Hold the speaker with your hand to prevent it from rotating, then loosen the angle-fixing bolts. Adjust the speaker
angle, then use a wrench to tighten the angle-fixing bolts until the speaker is thoroughly secured in position.
¢ You can adjust the direction of an installed speaker in a range of 180°. You can also install the angle-fixing bolts to the other
screw holes in order to adjust 180° in the opposite direction.
¢ You can also use the accessory knob screws in place of the angle-fixing bolts when installing temporarily and tighten these

by hand. However, when installing permanently, use the angle-fixing bolts and make sure they are securely tightened. The
recommended torque is 12.4 Nm.

Position of angle-fixing bolt

Knob screws

Position of angle-fixing bolt




Vertical Bracket (UB-DZR15V, UB-DZR12V, and UB-DZR10V) Installation

1. Remove the M8 screws (four total) from both sides of the speaker.
Use a 5 mm hexagon wrench.

,//;_—_F
M8 screw Im
Carefully store the screws removed from the speaker so
<+--- T > that they are not lost. Using the speaker with the screws
removed will negatively affect sound quality due to air
leakage because the screw holes penetrate the inside
of the speaker cabinet. Re-install the screws to the orig-
4 --- S gL > inal screw holes after removing the U-bracket.
9
U 0
—_— ||~

2. Use the accessory M8x30 hexagon bolts (four total) to secure both sides of the U-bracket to the speaker.
Use a 13 mm wrench. The recommended torque is 6.2 Nm.

M8x30

hexagon bolt
WARNING
Q | == @@@ Never loosen the center screw.

Doing so may result in the
speaker falling and possible
injury. If it becomes loose,
retighten it to a torque of 12.4 Nm
or more.

Angle-fixing bolt

\
3. Use a wrench to temporarily tighten the angle-fixing bolts on both sides, and install to the wall or ceiling.

CAUTION
A Failure to temporarily tighten the bolts may result in the speaker or U-bracket rotating during installation and possible
injury.

4. Hold the speaker with your hand to prevent it from rotating, then loosen the angle-fixing bolts. Adjust the speaker
angle, then use a wrench to tighten the angle-fixing bolts until the speaker is thoroughly secured in position.

¢ You can adjust the direction of an installed speaker in a range of 180°. You can also install the angle-fixing bolts to the other
screw holes in order to adjust 180° in the opposite direction.

¢ You can also use the accessory knob screws in place of the angle-fixing bolts when installing temporarily and tighten these
by hand. However, when installing permanently, use the angle-fixing bolts and make sure they are securely tightened. The
recommended torque is 12.4 Nm.

Position of angle-fixing bolt
180°

®
®
=

Knob screws

ar
Q(a/

Position of angle-fixing bolt




Installation Examples

B UB-DZR15H, UB-DZR12H, UB-DZR10H

B UB-DZR15V, UB-DZR12V, UB-DZR10V

38




Optional Brackets (sold separately)

You can use the U-bracket in combination with optional brackets sold separately. For more information, visit the following
Yamaha Pro Audio website.
https://www.yamahaproaudio.com/

Der U-Montagebugel kann in Kombination mit optionalen, separat erhaltlichen Halterung eingesetzt werden. Weitere
Informationen finden Sie auf der folgenden Website von Yamaha Pro Audio.
https://www.yamahaproaudio.com/

Vous pouvez utiliser la lyre en combinaison avec des supports en option vendus séparément. Pour plus de renseignements,
surfez sur le site Internet Yamaha Pro Audio ci-dessous.
https://www.yamahaproaudio.com/

Puede utilizar la abrazadera en U en combinacién con abrazaderas o soportes opcionales que se venden por separado.
Para mas informacion, visite el siguiente sitio web de Yamaha Pro Audio:
https://www.yamahaproaudio.com/

Vocé pode usar o suporte em U em combinagdo com suportes opcionais vendidos separadamente. Para obter mais
informacdes, visite o seguinte site da Yamaha Pro Audio.
https://www.yamahaproaudio.com/

E possibile utilizzare la staffa a U in combinazione con staffe opzionali vendute separatamente. Per ulteriori informazioni,
visitare il seguente sito web Yamaha Pro Audio.
https://www.yamahaproaudio.com/

Bbl MOXeTe ncnonb3osatb U-00pa3Hbii KPOHLITENH B KOMOVHALIMM C MPOJaBaeMbIMI OTAENBHO AOMONHUTENbHBIMU KPOHLITENHAMM. [11
nonyyeHna JONONHUTENBHON MHPOPMaLMK NoceTUTe cnedyoLmi Beb-cant Yamaha Pro Audio.
https://www.yamahaproaudio.com/

TR LURUBI R R 5 I N E AR 2R & EAH, BXELER, EARLELTYamaha Pro Audioig,
https://www.yamahaproaudio.com/

UZZSTv MEFBIFED DA T3> 750y hERBPEDBTCCHERVCREITET, s ULEF TR~/ JOA—FT a7
DI TJUA hECELIZEL,
https://www.yamahaproaudio.com/

39

(7]
«©
=
O)
=)
et
e
O
o



https://www.yamahaproaudio.com/
https://www.yamahaproaudio.com/
https://www.yamahaproaudio.com/
https://www.yamahaproaudio.com/
https://www.yamahaproaudio.com/
https://www.yamahaproaudio.com/
https://www.yamahaproaudio.com/
https://www.yamahaproaudio.com/
https://www.yamahaproaudio.com/
https://www.yamahaproaudio.com/
https://www.yamahaproaudio.com/

Dimensions

B UB-DZR15H

40

385

465

(101)

(550)

11

3.2 3.2
—ff———— — - ——
821
13
70 127 8.5
® o /
%
= ° JI/ < 1 ©
3 S —= RI8l &
= 1 o
I
32 115
120
682
720
Unit: mm
Weight: 6.2 kg



Dimensions

B UB-DZR15V

AN
74

575

655

(892)

3.2 3.2

o]

o | ®8.5
(7))
IS o=—] «®
0|
o ol O :
¢ o [} SEE =
RS E
} S
| 32 115 8
120
220
330 Unit: mm

Weight: 5.9 kg

41



Dimensions

B UB-DZR12H

42

335

425

(81)

11

8
(=]
<

_|.82 .32

706
®13
60 127 ®8.5
> |
o |/ - ©
IR j IGEE
' R | =

32

115
120
577

605

Unit: mm
Weight: 4.7 kg



Dimensions

B UB-DZR12V /! U
©
I / \ =
R | E
[Te)
(<]
<
0
s
= 0
. g
‘ 3
)»77 N~
('.“" )
\\, @ ’9
o
L
©
O
c
©
S
LL
.32 k32
476
127 @13
o 40, ‘ 8.5
| e M —=co-
—_ of v R (7]
9 ==1 N N| © @D
I 4 - T
‘ (o)
- 22 115 2
120 o
190 o
290
Unit: mm
Weight: 4.7 kg

43



Dimensions

B UB-DZR10H

(118)

325

415
(433)

3.2 .32
597
®13
60, . . 108/ ?8.5
— |
R==3 ° )4 cp of ®
‘ - —3 > ® - —EB& LDI o
= | madl | "
T
| a2 115 =2
- 120 0
472
500

Unit: mm
Weight: 3.8 kg

44



Dimensions

B UB-DZR10V N
I //l Q S
oo z
ml I _
:\-.\:Dg/

{
:

{

:

382
®13
108 ?8.5
* /
= 5 ] ¢+ od o
& © & SIg
i ’ | R==0 A
| . — ()]
—l 32 115 P <g
120 0 (o))
174 3
S
240 (]
o
Unit: mm
Weight: 3.6 kg

45



MEMO

46



Yamaha Worldwide Representative Offices

For details on the product(s), contact your nearest Yamaha representative or the authorized distribu-
tor, found by accessing the 2D barcode below.

Wenden Sie sich fiir ndhere Informationen zu Produkten an eine Yamaha-Vertretung oder einen
autorisierten Handler in lhrer Nahe. Diese finden Sie mithilfe des unten abgebildeten 2D-Strichodes.

Francais

Pour obtenir des informations sur le ou les produits, contactez votre représentant ou revendeur agréé
Yamaha le plus proche. Vous le trouverez a I'aide du code-barres 2D ci-dessous.

Para ver informacién detallada sobre el producto, contacte con su representante o distribuidor
autorizado Yamaha mas cercano. Lo encontrara escaneando el siguiente cddigo de barras 2D.

Per dettagli sui prodotti, contattare il rappresentante Yamaha o il distributore autorizzato piu vicino,
che & possibile trovare tramite il codice a barre 2D in basso.

Portugués

Para mais informacdes sobre o(s) produto(s), fale com seu representante da Yamaha mais préximo
ou com o distribuidor autorizado acessando o codigo de barras 2D abaixo.

Pycckun

YT06bI y3HaTb Nogpo6Hee o npoaykTe (MpoayKTax), CBSXKMTECH C GrivikaiuMM NpeacTaBUTeNeM Unm
aBTOPM30BaHHbIM AUCTPUObLIOTOPOM Yamaha, BOCrnonb30BaBLUNCh ABYXMEPHbLIM LUTPUXKOAOM HUXE.

[z 5304

MFBEXTmIVFRER, BRAELRENYamahaRRIERINEZIHRE, h@IiRRTA
BY 2D FAH B XERRNEHBHES

FhEPC

TR MBI - UM SCIERERATA) Yamaha S8 RIS » (TTLURR TSR
BB EARRRE R o

fice
Hl
2

HZofl chiet XiM[eh F 2 = of2l 2D HEZ =0f| AM| A5 717H2 Yamaha B HOIHE L= S
St AIL.

1>

L TH | =ol

https://manual.yamaha.com/pa/address_list/

Head Office/Manufacturer: Yamaha Corporation 10-1, Nakazawa-cho, Chuo-ku, Hamamatsu, 430-8650, Japan PAG1
Importer (European Union): Yamaha Music Europe GmbH Siemensstrasse 22-34, 25462 Rellingen, Germany
Importer (United Kingdom): Yamaha Music Europe GmbH (UK) Sherbourne Drive, Tilbrook, Milton Keynes, MK7 8BL, United Kingdom



HORERFETM (PE) BRFAFRAA
LTiEmHEZXHAK 18185 = KE 21
EPRE#L: 4000517700

AdMiE: https://www.yamaha.com.cn

&R MO

HlERTE: AR ERATHRXHFAT 10-1
EAR: momgREEm (RE) KRAFRAE
HAMME: EEHHRXAREK 1818 SAFKE 21
&= 3 ENERRAIR

Yamaha Pro Audio global website
https://www.yamahaproaudio.com/

Yamaha Downloads
https://download.yamaha.com/

© 2018 Yamaha Corporation
Published 04/2024

2024 £ 4 B ®1T

IPEI-BO

Bé [VHN5650]


https://www.yamahaproaudio.com/
https://www.yamaha.com.cn
https://download.yamaha.com/

	Introduction
	Contents
	PRECAUTIONS
	Package Contents
	Compatible Speaker Models
	Check Before Installation
	Horizontal Bracket (UB-DZR15H, UB-DZR12H, and UB-DZR10H) Installation
	Vertical Bracket (UB-DZR15V, UB-DZR12V, and UB-DZR10V) Installation
	Installation Examples (English only)
	Optional Brackets (sold separately) (English only)
	Dimensions (English only)

